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P.21 [ 3.3
# word dict.py: ®EEODH]
mammal dict = {'cat':'Jfi ', ‘'dog':' K ', ‘'horse':'J/S ', 'cow':

"squerrel':'U A"}
# (AM)
# W& 3.3 (1)

key = input ('Input key of mammal dict> ')
print (mammal dict[key])

# H:H% 3.3 (2)
input val = input ("l (val) ZAJLTLZE V> 1)
print('val = ', input val)

# ETDkey & value ZHLO H L
for key, val in mammal dict.items() :
if val == input val:

print (key, ' -> ', wval)
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cat => g
cat —> A&
dog -> X
horse -> &
cow -> 4

FEATHRER

squerrel -> U A

Input key of mammal_dict> cat
]
E(val)z ALL T £E W> 38
val = 3§

ern

cat —> &

P22 R/ 3.4
# set.py: EE DY)

input str = input('Input a integer > ')
n = int(input str)

# A= { nLFOMEK

# B ={ nlAlTD 3D}

A = set() # ZEHEH

B = set() # ZEHEH

for i in range(l, n + 1):

if i $ 2 == 0: A.add(i) # EFE i & AlTEMN
if i $ 3 == 0: B.add (i) # EFE i & BITEM
print ('A = ', A)
print('B = ', B)
(Bl

# REERES

print ('"(A - (A & B)) | (B - (A & B)) =
', (A - (A&B)) | (B- (A&B)))

print (' (A.difference(A.intersection(B))) .union(B.difference (A.intersection
(B))) = 'y

(A.difference(A.intersection(B))) .union (B.difference (A.intersection(B))))

FEATHRER
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put a integer > 20
= {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}
= {3, 6, 9, 12, 15, 18}

= {2, 3,4, 6,8, 9,10, 12, 14, 15, 16, 18, 20}

In

A

B

A| B=
A.union(B) = {2, 8, 9, 10, 12, 14, 15, 16, 18, 20}
B.union(A) = {2, 8

A
A
B
A
A
B

, 9, 10, 12, 14, 15, 16, 18, 20}

& B = {18, 12,

.intersection(B) {18, 12, 6}

.intersection(A) {18, 12, 6}

- B = {2, 4, 8, 10, 14, 16, 20}

.difference(B) = {2, 4, 8, 10, 14, 16, 20}

- A= {9, 3, 15}

.difference(A) = {9, 3, 15}
(A-(A&B)) | (B-(A&B))
(A.difference(A.intersection(B))).union(B.difference(A.intersection(B)))

P.24 [/ 3.5
# read write file.py: 7XF A N7 7 A NZHHEEZTD

# 77 ANHDFEE
input filename = 'student grade name.csv' # @tAriAZH

output filename = 'linenum student grade name.csv' # FHZALH

# 77 ANaBA<
with open(input filename, 'r', encoding='utf-8') as f in:
with open(output filename, 'w', encoding='utf-8') as f out:
¥ LATTORBEAIAI
1 # 7% %
0 # CFHK
while line := f in.readline():
# IEEH )

len line = len(line)

num_ line

num char

print (£'{num line:5d} ({len line:3d}) :{line}', end="' ")
# 77 AN

f out.write(f'{num line:5d}:{line}")

num line += 1 # 173&5 A7 VA b

num char += len line # tffT=— FiA%

$ EXALAT7 ANV EHLS

f out.close()
print ('Total num char = ', num char)

# HPIABHT 7 ANEAL D

f in.close(
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10 11):2EES KAX,,

2C 3):,,
3( 21):A0001, ZEME ,H AL

4 17):A0@02,1¥%% we S
L

5( 19):A0@03,#i}if%’/&%, &
6( 18):Ace0d, iEBIRE ,D H I

Total num char = 89
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